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Day 1 ­ AROC

Day 2 ­ IROC

Day 3 ­ DQ

Day 4 ­ Graphical Models

Unit 2 REVIEW  ­­> page 116 #1 ­ 4, 6, 7, 9, 10, 11, 13

Day 5 ­ Finding max/min with IROC
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(a) m = - 1OC/min

(b) between 5min and 50min the average rate of change is 
one degree Celsius per minute

(c)  my tangent line passes through (80, 0) and (0, 56) so 
that is a slope of -0.7OC/min

(d)  at that instant (30min) the rate of cooling is -0.7OC/min

(e)  the rate of cooling slows as time increases
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(a) AROC[8,10]  =  P(10)­P(8)

      =  (1250 ­ 630)/2
      =  310

Thus, the AROC is $310 000 per $1000 of advertising

(b)  DQ  = P(50.001) ­ P(50)

=  ­100.005

Thus when the advertising budget is $50 000, the company is
losing $100 of profit per dollar spend on advertising

10­8
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(a)  evaulate the DQ at   p=­1 p=­.75  and  p=1

DQ = ­0.998 0.002 7.002

(b)  evaulate the DQ at   x=­2 x=4   and  x=1

DQ = 4.49925 ­4.50075 ­0.00075

­7.5E­4so...

there is probably a minimum in (a) at p = ­0.75  

and  a maximum in (b) at x = 1
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